F57EFRMEAR—Y L IUI—23)RKEPFETYHA—DER(SFETHE)

AR TB)—5 - REBL—F AR 155 1N\—D FiE:
8 A#H /XN EH B
{IOVID1 -2 REBICHEL TS, FEEEHEY:

B EBE- EINERET S,
BE, RN —F A MEMF—LIOBI1L2BEFRFERET S,

8A248(H)./ KIEVF

1084B0r26 8. F%EG

TE-JOY

RR—YKREDOFER

%EU _7ﬂéﬁ' (“/—F?'—.L\)
Bl ¥R
AT OvY EEA asvy TR o |Gk | 852 B BB JOJA
H5EE A1l 1 VS 2[A3 9 Vs 1 3 7 10 Eouf: R
F5vY Al 2 VS 1 A5 VS 3 1 2 E=41: 704B
EE A3 1 VS 9 |A5 VS 0 10 1
B7AvY RE W BUTE Bos | Bk | 852 B
Rk B1 VS B3 0 VS 1 0 -1
[ez1] B1 VS B5 0 VS 3 0 -3
BT B3 1 VS 0|B5 3 VS 0 6 4 4 1
cJaovy Z04B BEA RIg o |Gk | 852 B
Z04B A2 0 VS 3|A4 5 VS 0 3 2 5
BEA A2 3 VS 0 A6 VS 3 3 3
Eig A4 0 VS 5 |A6 VS 0 5
D7Ovyy ZagA TR HEB Mom | BXa | #85a] IBh
JOosgA B2 6 VS 0|B4 5 VS 0 6 11 11 1
TR B2 0 VS 6 B6 VS 0 -6
S5EB B4 0 VS 5 [B6 VS 0 5
Fi!)—J ¥ % (8/24)
Ad—p Ba—k
BERS || 77 AvY F—L% i B F—L% FE 7" 0y F—L% *T B F—L% FE
1 9:30 B IR 01 BITE 7 3 C 048 0xt3 FEA = L]
2 |10:20| A HFEE 1%$2 a5y 7 ) D JRgA 6x10 TR 57 =
3 |11:10f B [z 0x+3 BTt & = C Z04B 5%0 RI& I L]
4 |12:00| A HFEE 9%f1 R 7 ET] D = 5%0 EHEB i3] &
5 |12:50] B IE *t il = & C BEA *t RIg 7 I
6 13:40 A IovY it EE = 3l D TR xF HEB IR ps
BB b—F AV MBS (10/40r26)
]
Al Cc2 D2 B1 C1 A2 B2 D1




